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1. Ineach of problems 1 through 2. Find the general solution, (10%)
(1) y'=—IT"%———1  (2) X*y"~5x'+9y=0
xy

2. Ineach of problems 1 through 2. Find the general solution with initial value. (20%)
W) =32 -2, J)=5; @ »'-4y'+53y=0, yz)=-3, y(r)=2

3. Ineach of problems 1 through 2. Use the Laplace transform to solve the initial value problem.
(20%)

(1) y"+4y'+3y=e';(0)=0,y'(0)=2
@) y'-2y'-8y=f{t} »0)=1,(0)=0
4. VectorsA=8%-6)+42, B=%+p, C=%-p:(1)find ZO(EXC‘J, (2) find the equation

of the plane containing the point (2, -3, 4) and orthogonal to the vector 4. (10%)

4 6 -3 0
5. Let A=|2 3 -4), B= 0-‘; (1) find the reduced form of [4:B]; [4iB], =7,
1 -1 3 | -7]

(2) find the inverse matrix of 4; 4™ =7, (3) use an inverse matrix to solve the system
equation AX = B, (4) use Cramer’s rule to solve the system equation AX =B. (20%)

-], -r<x<0

6. 1(x) ={ )

, find the Fourier series of f(x) on the given interval. (10%)
O<x<nm

7. Letd= [3 i] ; X(f)= [x, gﬂ, (1) find eigenvalues and eigenvectors of 4, (2) find the
X

general solution of X =AX. (10%)




